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INSTRUCCIONES 

 Duración máxima: 45 minutos. 

 Esta prueba consta de tres tareas: 

o En la Tarea 1 tendrás que identificar las ideas generales del texto.  

o En la Tarea 2 tendrás que entender las ideas principales del texto. 

o En la Tarea 3 tendrás que comprender los detalles importantes de un texto. 

 En cada tarea obtendrás: 1 punto por cada respuesta correcta; 0 puntos por cada respuesta incorrecta 

o no dada. 

 Solo se admitirán respuestas escritas con bolígrafo azul o negro. 

 Por favor, no escribas en los espacios sombreados destinados a la calificación de las tareas. 
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TASK 1 

You are going to listen to SIX extracts about the future of jobs. Match the extracts (1-6) to the 

corresponding statements (B-I). There are two additional statements that you must not use. Extract 

0 is an example. You will get 1 mark for each correct answer. You will hear the recording TWICE. 

 

THE FUTURE OF JOBS 

A. Farewell to tedious tasks. 0  

B. Our hitherto economic paradigm needs rethinking.   

C. Human beings thrive on minimalism.   

D. Increased leisure time boosts spending.   

E. Our destiny is not written in stone.   

F. Exhausted by consumerism.   

G. Forever in search of rewards.   

H. Need for crossover between work and leisure.   

I. Need to scrutinise our economic gains.   
   

MARK / 6 

 

Source: www.bbc.co.uk 
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TASK 2 

Listen to the following radio interview with an Insurance Policy Advisor answering queries and 

giving advice to insurees based on data from the Irish Health Insurance Authority (HIA). There are 

15 statements of which ONLY 10 correspond to what is actually stated in the interview. TICK only 

those 10 true statements (if you use more than ten boxes, you will lose one extra point per extra 

box used).  Statement 0 is an example. You will get 1 point per correct answer. You will hear the 

recording TWICE. 
. ANSWER  

0. 
“Community rating” means all insurees foot the same bill. 

  

1. 
Regardless of drops in income, more people are taking out insurance policies. 

  

2. “Minimum benefits” excludes alcoholism and psychiatric conditions. 
  

3. A “Corporate Plan” reimburses half of the specialists’ charges. 
  

4. Potential customers should ignore items not pertaining to them. 
  

5. “Corporate” plans are meant for companies only. 
  

6. “Life time community rating” forces younger insurees to get on board. 
  

7. 
Insurance companies are not bound by law to include certain items on the 

policy. 
  

8. Once in the system, customers are entitled to change companies. 
  

9. 
For people with psychological illnesses, their health insurance plan is priceless. 

  

10. Many senior citizens are unwittingly paying through the nose. 
  

11. Are customers getting a good deal or are they being ripped off? 
  

12. 
If a customer pays more than 1400 euros, they are eligible for a reimbursement 

of three quarters of specific fees. 
  

13. Customer allegiance offers benefits. 
  

14. 
Customers changing insurance plans must double check the details of their 

cover. 
  

15. The “Mid-level Plan” is not worth considering. 
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Source: Rté Radio 
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TASK 3 

Listen to an interview about the merits of Elon Musk being named Time magazine Person of the 

Year. For statements 1 to 10, fill in the gap with the words you hear. Each gap should be completed 

with ONE or TWO words. Number 0 is an example. You will get 1 point per correct answer. You will 

hear the recording TWICE. 

 

                                                                                                                                                        ANSWER  

All that's very [ 0  but the work practices, the work culture, the union busting and the treatment 

of employees in some Tesla facilities does not set a good example. 0. LAUDABLE  
Tesla was found to have been negligent in racial issues. And one guy 

got a $130 million dollar [ 1 . . . ] there. 
1.   

There have been endless stories from within Tesla, and SpaceX, about, 

you know, Musk being a bit of a [ 2 . . . ] . 
2.   

Why do you like him?  

I think there's a kind of [ 3 . . . ]  to received narratives about him. 
3.  

He's odd. He's a [ 4 . . . ] . But the world would be better off for more 

people like him. 
4.   

People hate him for a [ 5 . . . ]  of other reasons. 5.   

NASA was starting to look at [ 6 . . . ]  doing the donkey work of 

getting satellites and astronauts up into space. 
6.   

Somebody allegedly [ 7 . . . ]  on his face. 

He's sending a rocket up, a reusable rocket that can land vertically. 
7.   

And, again, revolutionary, I also think there's something Elon Musk is 

representing. A kind of bigger shift in how we [ 8 . . . ]  of space 

travel. 

8.   

Space travel used to be within the [ 9 . . . ] of super powers. 
9.   

It’s a [ 1 0 . . . ]  societal shift. 10.   
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Source: Rté Radio 


